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BB ATTEIXEIBESE ELE 40 %# A= B ATWEIIAIBESBEHE 27 %if 1B=e
| | B [0 (BEAR)
B , % x5 *E
fh H FEEH | B | B & =7 fH o = FEEH | B A | & OE =% fE
F 97 — — - — || BrA FOER L 10 ke 3, 888 1,404
T i B | 200 g 64 43 | WX A IR 10 ke 3, 240 1,404
LAY = B 250 g 86 — | »C 5 - & 10 ke 6, 804 2, 268
TEOR AN 200 g 86 43 | TABHNLE— = B 250 g 410 216
AEONAED = R 200 g 75 43 | DD D> = B 250 g 410 216
FhE SIS 150 g 86 — | wEEE = B 270 g 648 270
L AEL K R 180 g 108 86 | T—AAAB Y B A 9 ke| 18,144 —
72N A E % 10 ke 1, 404 1,296 |
FEEEIZA U A & 7 10 ke 1,728 1, 080
< &EW * O 15 ke 1, 404 1,188
XY A 10 ke 1,080 648
L&A = E 10 ke 3, 024 2, 592
TwH b T I 5 ke 3, 456 3, 024
TR m A 5 ke 2,160 | —
k< b e R 4 ke 1,728 -
B m A 150 g 86 —
Lk bvEE 10 ke 1, 404 648
TmERE £ E 10 ke 2, 808 2, 700
AL BB 100 g 194 108
LU £ ¥ 100 g 75 54
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i E FEREH fiL | & & % E i FEEM | B | & E | £ E
EFESALE R 1 ke 1, 944 1,620 | #H¥4 - F Y 1ke 2, 700 1, 080
BEAHHE RIEPE 1 ke 1,134 — | EwEH J VT 2 — 1ke 1,512 648
T & I 1 ke 540 216 | # 5 = TAUH 1 kg 2, 160 1, 080
VA £ I 1 ke 3, 240 302 | A FOER L 1 kg 1, 404 . —
AT B 1 ke 313 14 FUAY | B OE 1 ke 3, 780 1,728
A A A Tg — — — — | BAFY = JbvgiE 1H 248 162
EoN T & 1 ke 1,728 540 |

EZA B IE 1 ke 1, 458 540

/& & = & E 1 ke 2, 160 1, 296

INTE = IR 1 ke 594 —

7Y AbiEE 1 ke 1, 836 432

7% BB 1ke 3, 456 1,620

&7 BIRE 1 ke 1, 890 864

+T T g 1 ke 1,728 702




